EARAROBREBRT —5 XN—ZXBISH—F

202418118 () 1MELEIH

I > %%

C3

\(9&1&1 n ‘I%EH?’JFQ] | & 1000 =

[AE%] 1 7% :800,000F  27&:320,000 M  337%&:200,000H” ~ 43:120,000H . 5 7&:80,000 M

B®RE FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
" Ka)l|zd :33. -1-1- . - HRE CHT)
1 : BESSNZ) R i o A R R Y [erre
R:V—IZZARI) B:F—ZNVE—F WA K
ITTHIR :33. 0abe . — JBH—R (A7)
2l8l0l VyF—TF7—h o4 | PO 1(333)7 6-6-5-2 | 40.7 3 :1_29) REe
3N/ UwFE— B:IUPIFET—b ot feth
N A—AS— so4 | HEEE 1:34.0 4-4-4-3 |41 — 2 | 422 | AOBETF GERD)
3179 | TAYIUN=XS 54.0 a1/ (-g) |LEASE
R:IAYVeAY BIAYYShot ENRIS
- —— . 97 - BO—HF (AR
4 7 IHAFERXF 4t 4 = ’I(.;/lt‘.)'l 10-9-7-4 | 40.6 1 (5_2;1) R
R:FRF B:Y3FA—X5A4Y ERAKIES
s o~ =[] 134, -5-6- . - BRI ()
5 6| Y IR A # o4 | 58 1(355 5-5-6-5 | 41.5 8 (4+316) Bog
RIAYYTISYya1 BRVYI«F—L ST
4 | BABEH 1:34.9 7-8-8-6 |41.3| - 7 | 487 |iEH—RI GETD)
6N 4| 70RU—" i 54.0 @ @) | R I=I—FK—LFr VTR
RVILN=ZF— K #B:5F7—h IREAIS
bs = iR :35. -11-11- . - I\MRER (FF0)
717|g |RvIRTVTY g R R R e e
RiVAVIR—54Y B hFEXFTVYTY HME Eh
—~, " L4 | DOEERORE 1:35.6 9-10-9-9 |41.6| — n 41 | R&BIIR GET)
glgln| E—=vI97(UR ! 54.0 ©@E) (a) | PREEL
RiFUAYZvT BV v RITRT FRPERUS
o ateat :35. -7-10~ . - AOBEF (#EfD)
9/1/1 | AFIKAVT 4 B% 7 I R e > |emEa
R:Z2bOVIUI—Y B:TU—XRy—2 PN e ]
. 5 = 4 | CHHRER 1:36.7 1-1-2-7 |44.6| — | 10 | 465 |/IISZ (A0
EE 2|TLAY P AE—5 * %33.0 @ ay | B0 Tr—2bEVIY
RIRVIATAwIDxU7— B:IULAYFID AERXIY K
S = to4 | RN 1:37.2 3-3-3-8 | 44.5| — 9 | 476 |BOE (B
Mls|5 | RY/NATS 54.0 2172 (4) | WARS
R:EyI7—HY— B:IT7IU—N—T U &R
® 11— —@BIEfL
13—7F— 2,3,5,9,6,10,(1,4),11,7,8
20—F— (2,3).,5,9,6,10,1,4,7,11,8
30—7— 3,2,5,9,10,6,7,4,11,1,8
AS—f— 3,10,9,7,6,4,2,5,11,8,1
[ BN-S
B s 3 1,430 | | 94 & 3-10 510 & 3-8 1,780H4 3EE 3-9-10 1,320
BB 3 2809 3-9 490/ B 3-8 4,400H4 3EE 3-10-9 14,1504
10 1508 9-10 280 Fs E 3-10 2,010
9 140 o= 3-10 5,000

ABIC OV TRUTEREERRODDZE. THRIIZEL.




